FD-111

M.Com. 3rd Semester
Examination, Dec.-Jan., 2021-22

Paper - 1

Management Concept

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

qe W gEl F IW AN Al T w SR
T T

Note : Answer all questions. All questions carry equal
marks.

g8 / Unit-I
1. THh Yaeeh o 2Tavdsh g &1 § 2 AU
faR & 399 o "eEqul & 9 §, 3R
i ?
What are the essential works of a Manager ?

In your view which is the most essential work
in them and why ?

34T / OR
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(2)
gaaH ufRfey § yey & e gAifadl @i
YU |

Explain the future challenges of management
in the present perspective.

B8 / Unit-11

2. “fHEH @ g faeew & &1 faaEmn
HIfSw R fEIsA &t 9w 3R YR &0
HYAEST |

“There is no alternative to planning.” Discuss

and explain the process and types of planning.
34T / OR

“orfeRl 1 R R s oweRar §, fohg
IAEIEl w1 TGN TH HYT H THh
fagidal & ded # wHian wifvT

“Authority can be delegated but not

responsibility.” Explain this statement in the
light of its principles.

ZehTS / Unit-111

3. “fidvm wemE & 'geg B T wifse
Tog H M & wed &t fae=r @iy
qen ey & HHd TaEy|

DRG 29 (4) (Continued)



(3)

“Direction is the heart of administration.”
Explain. Discuss the importance of direction
and state the limitations of direction.

34T / OR

wIfth & gfiwifeg wifee ) 3o 32w, &
Td HWew i fao=m wifeq

Define Staffing. Discuss its object, scope and
importance.

TS / Unit-IV

4. T TR & T d91 9 9gid &1 auiA
ST |

Describe the X and Y theory of McGregor.
34T / OR
aAfvgRer o gfwifog wkifsmn sfagor =

guIfad & diel TRl i IO Hifed |

Define motivation. Discuss various factors
influencing motivation.

ZehTS / Unit-V

5. UE T g Tfdfad ol gRwifa i
g frores & guifed & g fafa=

SChi H1 FUM BT |

DRG_29 (4) (Turn Over)



(4)

Define Group and Group dynamics. Discuss
the various factors affecting  group
performance.

HYdTr / OR
frafafea w fewfmar fafew .
() 998 & &R

(b) TR ok & =0

Write notes on the following :
(a) Types of group

(b) Stages of group development

DRG 29 (4) 1,300
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FD-112

M.Com. 3rd Semester
Examination, Dec.-Jan., 2021-22

Paper - 11

Organisational Behaviour

Time : Three Hours] [Maximum Marks : 80

Ae |t T % W ST 9ty & o
T 1

Note : Answer all questions. All questions carry equal
marks.

ZhTE / Unit-1

1. TeAIHe IR i R SifSTl 39
Y@ &0 Td WEd sy |

Define Organisational behaviour. Explain its

main characteristics and importance.

34T / OR
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(2)

AT 9 F AWE B2 STEIET kA
&1 foa=m wifsu)

Define Perception. Discuss perception process.

TS / Unit-11
2. A9 ¥ A N GUId ©§ 2 TUh! fasiyang

N T? g F Hed @t fad= wifsw)

What do you understand by Leadership ?
What are its characteristics ? Discuss its
importance.

37947 / OR
foreRe st IR Aqc gonfarEdl sl GHEISU |

Explain Likert’s four systems of Leadership.

ZehTS / Unit-111
3. "o d d §? WYk WP e ST
giehio &t AT HIT |

What is Conflict ? Explain the traditional and
modern approaches of conflict.

3794 / OR
Tud @ gRfyg wifsw) 99d % %R T
Y&l hT SO TSI |

Define Conflict. Describe its causes and
effects.

DRG_104 (4) (Continued)



(3)

ZhTS / Unit-IV

4. HYYU &k Tqog F T2 WYY F HE WS
EAEEERINY

What are the elements of communication ?
State the functions and objectives of
communication.

34T / OR

TU90T AT F GHS © 7 WIHU Y GG
UM 991 3¢ X w6 faw gema fw|

What do you mean by communication ?
Explain the main barriers of communication
and give suggestions to remove them.

ZehTE / Unit-V
5. GeAHE fahm@ i qRIfd sifse | Seeht
fovivad we 3EYEl Rl IR
Define the Organisational development.
Discuss its characteristics and objectives.

34T / OR

d g9 W@ Al = €, T W e
ferepr amia € ? ‘drea faem’ d9ur ‘geiy
fowg’ # AW T Hifw|
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(4)

What are those values and assumptions
upon which organisational development is
based ? Distinguish between ‘Organisational
development’ and ‘Management developement’.

DRG_104_(4) 1,300



FD-113

M.Com. 3rd Semester
Examination, Dec.-Jan., 2021-22

Paper - 111

Advance Cost Accounting

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

qe | gHl F IW AN Al T o6 SR
T €

Note : Answer all questions. All questions carry equal
marks.

ZehTE / Unit-1
1. Tr=fafaa =1 1 gu=mET
(a) HE-I< AN

(b) FfdEATH NI

DRG_167 (15) (Turn Over)



(2)
(c) gol ArTd

(d) TR AT
(¢) SR T

(f) ®UILOE T

(g) gHuM T T wrma

(h) SAfE=IE &

Explain the meaning of the following :
(a) Shut-down Cost

(b) Replacement Cost

(¢) Sunk Cost

(d) Opportunity Cost

(e) Imputed Cost

(f) Conversion Cost

(g) Research and Development Cost

(h) Uncontrollable Cost
34T / OR

= gl & 9, 2020 % faw faw
(s ® o1 - weal ) fafy g =l
WAl SERET

DRG_167 (15) (Continued)



(3)
wiferar IGREE]
19, 300 3% @RI 2YMIHE |3 AN, 125 THE
14 T4, 250 THE RT3 WA IHFE |16 UE, 175 TR
20 AT, 560 3 X ¥ 2.50 U IHE [ 22 A, 90 3HE
O, 24 1 10 1S ST AM™, 16 ohi fifaa
T T eft, faum g R & s X o

T wd 31 WE H 14 THEAl H SN
Wi e & <A uen T

Prepare Store Ledgers from the following
information as per LIFO (Last In First Out)
method for March, 2020 :

Receipt Issues

1st March, 300 Units @< 2 perunit |3rd March, 125 units
14th March, 250 Units @ % 3 per unit | 16th March, 175 units

20th March, 560 Units @ ¥ 2.50 per unit | 22nd March, 90 units

On 24th March, 10 units issued on March, 16
were returned by the department to the store
and on 31st March a difference of 14 units
was found as per stock verification.

TS / Unit-11

2. TGH IAH I USITH-HATTER, AR,
Yrcared drerredl & fawg # fafeu )

DRG_167 (15) (Turn Over)



(4)

Write about the methods of wage payment-
time and piece rate, incentive schemes.

37974 / OR
A 96 TWe HIAl fdo & b fashdl 9w,

TWH @ Wa § | fefafed gear orm,
2020 & o W &1 T ®
FA | WS | w9 | =

fashar &1 oA ¥2,000( ¥500[ ¥700[ ¥ 800
EXINE] fasra W 2% 2% 2%
I = T600| ¥200] ¥100[ ¥ 300
T Ta I T90| %30 %30 %30
A Ug efium™| 100 ¥50] 20 ¥30
IEEQ] 7 20,000 |¥ 8,000| ¥ 4,000 % 8,000

() fort wEiem =@ (9t 31U

) ¥ 1,000

(i) Toopt & @rTa-fasea &1 60%
SEw 9 fowl wwoed faato-t qur

HIfTT |

Om Sai and Co. Ltd. has three salesman
Sahaj, Saras and
information is obtained for the month of
August, 2020 :

Saral.

The

following

DRG_167 (15)
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(3)

Total Sahaj Saras Saral

Salary of Salesman ¥ 2,000 T 500 700 <800

Commission on Sale 2% 2% 2%

Travelling Expenses T 600 200 100 <300

Postage and Stationary 790 T30 T30 T30

Telephone and
Telegrams T 100 50 20 T30
Sales ¥20,000( ¥8,000] ¥4,000| ¥8,000

3.

(/) Sales office expenses (in ratio of sale)
¥ 1,000.

(if) Cost of Sales — 60% of Sales

From the above, prepare the Sales
Performance statement.

ZahTe / Unit-111
SyRE o fafy F T 7 36 SeEl, ol
Td et & faa= wifsu
What is Job Costing ? Discuss its objectives,
advantages and limitations.

34T / OR

Teh AAETG Wal HFA1 S TR o S S

TH TR F 50 fohoro & T W T 4 o

DRG_167 (15)
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(6)

T W &1 Y% o9 H S hl &HAT 40
IET T oeWd, 2020 W fE foeRor I

E{?‘lﬁ ¥ fan mn T
54

TRl T AR ol AU 14,000
HUSHY i HSIGU 10,000
HETAT HHAMET 1 A 12,000
TN AEd TE T Sad 38,000
T Td ST 9,000
F UG o 15,000
FA| 26,000
TS o=HE Yoo giaad 5,000
=N @ I A 15,000

I ST ST H o ST W, S3H ki &THAT
% 75% &1 G 9”99 W9 % guw oA
H Jadt § 1 g&® 99 7 fafed w9 @
i gfd Il fhoHlo UREIT @ whifed |

A Transport Service Company is running 4
buses between two towns which are 50 Km.
apart. Seating capacity of each bus is 40
passengers. The following particulars were
obtained from their books for April, 2020 :

DRG_167 (15) (Continued)



(7)

3
Wages of Drivers and Cleaners 14,000
Wages of Conductors 10,000
Salaries of Office Staff 12,000
Diesel oil and other oils 38,000
Repair and Maintenance 9,000
Taxation and Insurance 15,000
Depreciation 26,000
Road Licence fee per year 5,000
Interest and other charges 15,000

Actual passengers lorried were 75% of the
seating capacity. All the four buses run all
days of the month. Each bus made one round
trip per day. Find out the cost per passenger
km.

TS / Unit-1V

4. (q) ITHM ARG-USH T T 7 T TARI hl
Yo bl YT Sdrsy |

What are Estimate Cost Cards ? Mention
the utility of the cards to the
management.

DRG_167 (15) (Turn Over)



(8)

(b) x SR K FAIHA @A Tk T4

fd THE SAHM YSH AT T

S
yoae ait we gfd 6
oIl g4 4
frafor 3Iufer 5

Rl 5

x IAIE i 200 Th1AT &1 Icded 4

ardiaeh ard W fohar =

3

Jag §El wd gfd 1,250
Joas g4 750
oo 3uler™ 1,100
AT 3,100

sEfy & 3 H wrg ol |k wW
fTH 3G &1 Wik T&l o 3R F9&=
SAE T 20 Jfd SE &I X F o= T4
STF H @@l wH b fauw SHA h
yfafeeal Td @[ SR |

DRG_167 (15) (Continued)



(9)

The estimate cost card for x products
gave the following estimates per unit :

Direct materials and supplies
Direct labour
Manufacturing overheads

Total

[
wm|l v N N A

200 units of x products were
manufactured at the following actual

cost :
3
Direct material and supplies 1,250
Direct labour 750
Manufacturing overheads 1,100
Total 3,100

There was no work-in progress inventory
and finished goods inventory at the end
of the period and all the units were sold

at ¥ 20 per unit. Give Journal entries and

prepare Ledger Accounts to record above.

34T / OR

DRG_167 (15) (Turn Over)



(10)

TH dA WWEE HREH H IAR dF e
ufsratedl # st g 7| FrAfafed =
S, 2020 HE H ITAH § ¢

oeqd | W | wHE

(%) ) | )
Hel A
(500 29 @YU) |2,25,000 - -
Rgfaes 8,000( 5,900 | 5,875
NIES] 1,200( 1,000 | 1,500
fafay ammf 500| 1,900 -
HREET I 600| 1,000 | 950

gaifud 9@ GUE ¥ <rell i AFd ¥ 21,025
off| 200 27 @Al & heh T 15,000 I o=
T qeT 275 I FE dd Wi fREnr TR
dreq gfshan o fafay SUraEl 9 3 900 e |
qd o WEF & g9 IURAE T 900 &% (20
T9) 99 M qAT 250 A HINHG dd U
fFam T 240 T WG 9@ @l H R
fear T qem 10 29 ¥ 1,200 H ST TN

39 31afY o HAGd =& T 3,500 BT S ok
T Ffhatstl &l 3:2:2 o U@ H =TS
fFu 9= ¥ 9ha wW TER wife

DRG_167 (15) (Continued)



(11)

In an oil refinery the product passes through
different The
information is available for the month of

three processes. following

January, 2020 :

Crushing | Refining| Finishing
(3) (%) (%)

Raw materials
(500 ton of copra) | 2,25,000 — —
Wages 8,000 5,900 5,875
Powers 1,200 1,000 1,500
Sundry Materials 500 1,900 —
Factory Expenses 600 1,000 950

Cost of drums for storing finished oil was
¥ 21,025. 200 ton of cake were sold for
¥ 15,000 and 275 ton of crude oil were
obtained. Sundry by-product of the crushing
processes fetched ¥ 900. By product after
refining the oil was sold for ¥ 900 (20 ton)

and 250 ton of refined oil were obtained. 240
ton of finished oil were stored in drums and

10 ton were sold for ¥ 1,200.

DRG_167 (15)
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(12)

The establishment expenses for the period
amounted of ¥ 3,500 which are to be charged

to the three processes in proportion of 3:2:2.
Prepare the Process Accounts.

TS / Unit-V
5. Y SMURA ased ¥ g Afyu ¥ 2 ok
Y Td Hed Wt faeE wifs g
3:|Ta'|ﬁ_€f oSl 3:ﬁT HXHIHIA olsic ﬁ S}
TSI |
What is meant by Zero-based Budgeting ?
Discuss its advantages and limitations.

Differentiate between Zero-based Budgeting
and Traditional Budgeting.

HYdT / OR
50% &T9al R frefafed gomn < g8 €1 T
AFGR oS IAET 99T 60%, 70% T 90%
Al T AY-BIH 1 GAGHAH i

50% &l W =T
()

T &9 :

ELE 1,50,000

R @@ 1,20,000

AU I 1,80,000

EHIES R C D) 2,710,000

DRG_167 (15) (Continued)



(13)

50% &9l T =T
(%)

trﬁa?i'—mﬁ?'r Y

EEiRpil 6,00,000

a9 7,50,000
T 1,20,000
aa‘—wﬁaﬁwﬁw Uy

THq 3,00,000
AYAH gH 4,50,000
T 2,70,000

IE STIHE @l T § fob At amanei
R =@ JumEq Wi 3Tg-IRaaeia =™
45% TH 60% o s= gidfdd =&l &M, 60%
Td 75% @ W9 TIH 10% hi Jhg B,
To% afafem s% F d9fg et w9 e
75% 1 R HL |

~__n

gl o fafy= s W smAta foasht =9
TR ¥ :

&THT IEER
()
60% 33,00,000
70% 39,00,000
90% 45,00,000

DRG_167 (15) (Turn Over)



(14)

The following information at 50% capacity is
given. Prepare a flexible budget and forecast the
profit or loss at 60%, 70% and 90% capacity :

Expenses at
50% capacity
®)

Fixed Expenses :
Salaries 1,50,000
Rent and Taxes 1,20,000
Depreciation Expenses 1,80,000
Administrative Expenses 2,10,000
Variable Expenses :
Materials 6,00,000
Labours 7,50,000
Others 1,20,000
Semi-variable Expenses :
Repairs 3,00,000
Indirect Labour 4,50,000
Others 2,70,000

It 1s estimated that fixed expenses will remain
constant at all capacities. Semi-variable
expenses will not change between 45% and
60% capacity, will rise by 10% between 60%
and 75% capacity, a further increase of 5%
when capacity crosses 75%.

DRG_167 (15) (Continued)
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Estimated Sales at various levels of Capacity

are :

Capacity Sales
)
60% 33,00,000
70% 39,00,000
90% 45,00,000

DRG_167 (15)
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FD-114

M.Com. 3rd Semester
Examination, Dec.-Jan., 2021-22

Paper - IV

Management Accounting

Time : Three Hours] [Maximum Marks : 80

Ae |t Tl SW ANw 9l T % e
peic i

Note : Answer all questions. All questions carry equal
marks.

ZehTE / Unit-1

1. Yeu®E o@ifay § & AWE g ? 9%
& AdH WA detenl bl foe= ST

What is meant by Management Accounting ?
Discuss its main tools and techniques.

34T / OR

YeysE w@maerss o feafd, qfyem w
ST sl THEAST |

Explain the position, role and responsibilities
of Management Accountants.

DRG 235 (8) (Turn Over)



(2)
B8 / Unit-11

2. vtenm fdo & 2019-2020 T¥ & HawH

gfomm o 9aR §
F

IEED 8,00,000

(-) UREdRie &r 5,60,000

S HME 2,40,000

(-) TR & 80,000

IS o™ 1,60,000

SO & = fauri & fAwes 9 defud

e g=1 =1 7R € -

faym
A B C
(?) () ()
orsht 3,52,000] 2,88,000 |1,60,000
qReEd-Rie @d | 2,40,000] 1,76,000 [1,44,000
Tae] feer arma 28,800 22,400 12,800

31 frouTes oo gfaaed Tar sifse qen
T faurn &1 9feres aveEedl o STER
W wife Fuif@ s

DRG_235 (8)
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(3)

The operating results of Sheela Ltd. for the
year 2019-2020 are as follows :

3
Sales 8,00,000
(=) Variable Cost 5,60,000
Contribution 2,40,000
(-) Fixed Costs 80,000
Net profit 1,60,000

The additional informations relating to
performance of three departments of the
company are as follows :

Departments

A B C
(%) (%) (%)
Sales 3,52,000]2,88,000(1,60,000
Variable cost 2,40,000(1,76,000]1,44,000
Direct Fixed Cost [ 28,800| 22,400 12,800

You are required to prepare performance
evaluation report and rank the three
departments on the Dbasis of relative
profitability.

37gdr / OR

ST @ik & g7 ard &= 3R
ST g H @ FdEu|

DRG 235 (8) (Turn Over)



(4)

What is Responsibility ~ Accounting ?
Distinguish  between Cost  centre and
Responsibility centre.

B8 / Unit-111

3. oSN d §? WdSe o fafd= YR TH
dcdl i SIRSAT hifSIT |

What is Budgeting ? Explain the elements and
different types of Budgets.

3794 / OR
Teh HRE@H T 10000 SH1EIA & IO

fau = oo =1 yer feu o ¥ .

7 (Ufd )
i pil 70
a9 25
qReEdRie SUREA 20
T YRS ¥ 1,00,000 10
IR &4 5
forsnt =131 10% feer 13
forawor =29 20% TR 7
JUME =49 ¥ 50,000 5

(a3

(i) 8000 S®EAT TA (ii) 6000 THEAT & o
3AET o o9 IR HifSW| I HH o T
JoEe o 9t ' W TR g

DRG_235 (8) (Continued)



(3)

The Expense budget for production of 10000
units in a factory are furnished below :

T (Per Unit)
Material 70
Labour 25
Variable Cost 20
Fixed overhead ¥ 1,00,000 10
Variable Expenses 5
Selling Expenses 10% fixed 13
Distribution Expenses 20% fixed 7
Administrative Expenses ¥ 50,000 5

Prepare a budget for the production of
(/) 8000 units and (i) 6000 units. Assume
that administrative expenses are rigid for all
levels of production.

g8 / Unit-IV
4. YUY N o@ihd @i URYTT STl s9
ded § gmit foerenl iR gm fo=ron @
HHSATSU |

Define Standard Costing. Discuss material
variances and labour variances with reference
to it.

37dr / OR

DRG 235 (8) (Turn Over)



(6)

= gawedl ¥ 9mft fo=ren @t Tom
Elfl'rTrl'Q:

JHI EIENICED

QY| AET [ | oI | AT [hiEd [
(fea)| ()| ) [((fRI)| () |(F)

A 50 4 | 200 40 5 (200
B 30 6 | 180 30 6 |180
C 20 3| 60| 30 3| 90
100 440 100 (470

g | 20 -1 30 -
80 40| 70 (470

Calculate Material variance from the following

information :
Standard Actual

Material| Qty [Price| Value | Qty [Price|Value
Kg)| )| () | Keg)|[R)]| R)
A 50 | 4 200 | 40 5 200
B 30 | 6 180 | 30 6 180
C 20 | 3 60 | 30 3 90
100 440 | 100 470
Loss 20 — 30 —
80 440 | 70 470

DRG_235 (8) (Continued)



(7)

B8 / Unit-V
5. Hwiq @ fafy | e = wHe € 2 A
froiei o 99 & 9 H TRt YA GHFAET |
What do you understand by marginal costing ?

State its usefulness as a tool for Corporate
decesions.

37dr / OR

Jal ot fdo RT A9 YR o ded HfHa
W a9 9 S TR HHN: L, M qA N
i @ ST Sl & | e dr w§ Ay &
fa L AT 1 20% 3 a1 B, M 10%
A N 50% WEH <d B A ded A ufd
she okl o W 99 S ¥ -

L T8 M T2, NT3

L ! 50000 18T, M T 150000 SehTSal qo
N &t 60000 THEAT SR HIAT ¥ FX F I
¥ 50,000 1 G 19 FHAEN A dio THo o
fosha geigs 1 We § foF M F FEE Ak
qAT L T N R Tasha Il i hid Sl
A HI TG S Tkl & | 3Hh TR ST
a9 L st Tasht 60000 ShTsAT qAT N i ToIsht
70000 SHEAT dF TEH H TR F |

F A At T F YEE Y WEHd § 2 SR
TS bl &I | W@d U ST bl HiHid
foeRor d9R =S

DRG 235 (8) (Turn Over)



(8)

Three different types of bulb are manufactured
and sold by Bebo Company Ltd. These are
branded as L, M and N. L contributes 20% of
its revenue to Fixed Costs and profit. M
contributes 10% and N contributes 50%.
These bulbs are sold at selling price per unit
as under :

L8 MT2 NT3

The company earned a net profit of ¥ 50,000
before tax by selling 50000 units of L,
150000 units of M and 60000 units of N.
Shri P. N. Dubey the sales manager believes
that the profit picture can be improved by
diminating M and concentrating the sales
efforts on L and N. He sees an opportunity to
increase sales of L to 60000 units and that N
to 70000 units next year.

Do you agree with the proposal of
Shri Dubey ? Prepare a marginal statement of
income using his assumptions.

DRG 235 (8) 1,300
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; FD-115

M.Com. 3rd Semester
Examination, Dec.-Jan., 2021-22

Paper - V

Accounting for Managerial Decisions

Time : Three Hours] [Maximum Marks : 80
Ae |t Tl SW ANw 9l T % e
peic i
Note : Answer all questions. All questions carry equal
marks.
ZehTE / Unit-1

1. U& HWAl H1 dSiE 150000 SHISA o ScdIeH
W B U TR IR @ T 14 3R
feer @@ $2 wfa swE R wEAl fowa
ed 39 YR T o« § fF @ w
15% Y THa &eh |

(a) SR W &R fag feam ®2

DRG_270 (11) (Turn Over)



(2)

(b) TN O STUM FA T ?

(¢) afc weoft fosha goa &l 5% ¥ &
FHE T, q WG fakd e e
o W fag ok @9 9N U @i

forg YR JuIford R ?

(d) IC TE ¥ 10% AH @ Sl =91
A, @ W g W fawa fwaw &
MY ?

A Company budgets for production of 150000

units. The Variable cost per unit is ¥ 14 and
Fixed cost is ¥ 2 per unit. The company fixes
its selling price to fetch a profit of 15% on
cost.

(a) What is break-even-point ?

(b) What 1s Profit Volume Ratio ?

(c) If Company reduces it selling price by

5% how does the revised selling price
affect B.E.P and P/V Ratio ?

(d) If profit increase of 10% is desired more
than budget, what should be the sales at

reduced price ?

34T / OR

DRG_270 (11) (Continued)



(3)

Tod YR HA=R 3794 Sl H § Wk I
% AR W ghred & R faER
T W T gd9H AN q9 Ied gHSG

IE | Hod [afedsiier o | faska st g
(z) | (vfdshE) (%)

FH | 60 40 30

I | 100 60 20

oS | 200 120 50

foamei aRedd o= ol o< &R -
Ik I H T AR TE uREdT & AR
form STam ®, O WH % ANG U SR ok
ﬁﬁiaﬁﬁ'ﬁl‘lﬂﬁqﬂ%:

3 e | aRedeiial arra | faska =
7 (wfaswE) | wfaea (%)
EXsil 60 40 50
eh-H| 160 60 10
s 200 120 40
Faa wd sTEifa fer = wd fast ®
FAAE (%) | STHIA (%)
IEER] 25,00,000 26,00,000
TR =9 7,50,000 7,50,000

F Y&E bl ThR H AT =A1f8u ?

DRG 270 (11)

(Turn Over)



(4)

M/s. Bharat Furniture is thinking to drop one
item from its product lines and to replace it
with another. Below are given its present cost
and output data :

Product [Price|Variable Cost|Percentage of Sales
T (per unit) (%)
Chair | 60 40 30
Bench [ 100 60 20
Table |200 120 50

The change under consideration is dropping
the Bench and introducing book-shelf. If this
change is made, the Firm forecasts the
following cost and output data :

Product Price| Variable Cost | Percentage of
3 (per unit) Sales (%)

Chair 60 40 50
Book-shelf]| 160 60 10
Table 200 120 40

Total fixed cost and sales for the present and
forecasts are :

Present (%) |Forecast (%)

Sales 25,00,000 | 26,00,000
Fixed Costs 7,50,000 7,50,000

Should the proposal be accepted ?

DRG 270 (11)

(Continued)



(3)

B8 / Unit-11
2. fodta faveww = fafu= faftl sH-%H
o €27 fF=l < %1 wmemwEu)

What are the different techniques of Financial
Analysis ? Explain any two of them.

37gdr / OR

= 9w 9 (o) a9 AIIE (b) IS

Y UM (c) U AU AT (d) FA
YT W AT [ hIMST

2019-20 | 2020-21
(%) (%)

fasa 8,00,000 |10,00,000

(-) fosht @mTa 5,60,000 | 6,00,000

Tohel oY 2,40,000 | 4,00,000

(-) S =3 40,000 60,000

G 3T 2,00,000 | 3,40,000

(+) R-GaeH ™ 10,000 | 12,000

2,10,000 | 3,52,000

(-) R-G=reH = 8,000 9,000

s Y 2,02,000 | 3,43,000

Fo ufaar 40,40,000 |51,45,000
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From the following particulars, calculate :
(a) Gross profit ratio (b) Net profit ratio
(c) Operating ratio (d) Return on total

resources

2019-20 |2020-21
) )
Sales 8,00,000(10,00,000
(-) Cost of Sales 5,60,000{ 6,00,000
Gross Profit 2,40,000] 4,00,000
(-) Operating Expenses 40,000; 60,000
Operating Income 2,00,000] 3,40,000
(+) Non operating income 10,000[ 12,000
2,10,000] 3,52,000
(=) Non operating expenses 8,000 9,000
Net Profit 2,02,000] 3,43,000
Total Assets 40,40,000]51,45,000
DRG 270 (11) (Continued)
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B8 / Unit-111
3. f=1 faegl 9§ wve o 9y wd yan faeru
o FrEivier gsit gieds faawer dar Hife
31 A LSt i) 31 9
HIRIC] 2020 [ 2021 2020 [ 2021
(%) (%) ) | )
ENRE 50,000 [1,00,000 | =fd | 15,000] 25,000
ESULE] -1 25,000| wiie 18,000| 96,000
A B & 15,000 | 25,000| ®i® | 40,000| 35,000
Tt enii| 5,000 | 6,000 TFER | 15,000 32,500
fafay @=erR | 20,000 30,000 | Ths 8,000 9,000
3 I 5,000 3,500 | URfae
=0 4,000 2,500
Affaend 5,000 | 10,500
1,00,000 [2,00,000 1,00,000(2,00,000

g9 H ¥25000 % S TWE T 25,000 &
o frifid o T SR Tld T
g9 T 36,000 % TH H YEYE fHA T
Tk WIME H T 1,500 H o= TN, THH

sfafed ged ¥ 1,000 o1 WlT T AR

Y T wrafoal we S 9

NI

% 20,000,

i

715,000, @R ¥ 5,000

% 5,000,

TR
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From the following Balance Sheets prepare
sources and application of fund statement and
working capital changes statement :

31st March 31st March
Liabilities 2020 | 2021 |Assets 2020 2021
®) ®) ®) ®)
Share capital 50,000]1,00,000 | Goodwill 15,000 25,000
Debentures —| 25,000 |Plant 18,000] 96,000
Profit &
Loss A/c 15,000 25,000 [ Stock 40,000] 35,000
Proposed
Dividend 5,000 6,000 | Debtors 15,000 32,500
Sundry
Creditors 20,000{ 30,000 Cash 8,000 9,000
Outstanding
Expenses 5,000 3,500 [Preliminary
Expenses 4,000 2,500
Overdraft 5,000 10,500
1,00,000(2,00,000 1,00,000(2,00,000

A business was purchased during the year by
issue of Shares ¥ 25,000 and Debentures of

¥ 25,000. Depreciation T 6,000 has

been

provided in the year. A Machine has been sold

for ¥ 1,500; its written down value being

DRG 270 (11)
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¥ 1,000. The business purchased had the
following assets and liabilities :

Machine ¥ 20,000, Stock ¥ 5,000, Debtors
T 15,000, Creditors ¥ 5,000

37gdr / OR

~

AS-3 F IER kg T fIRU @i
TEIHRRO Hht BH-HA d fafET €2 o
fafar =1 9w ST

What are the various methods of presenting
Cash flow statement as per AS-3 ? Discuss
direct method.

ZehTg / Unit-IV
4. AT ANQIHRT N T? AT ANdiRT 9
Teifyd & dlenl & fafy=r =Ron &1 9uiF
HIFSTT |

What is Target Costing ? Discuss the different

phases of methodology in respect of Target
costing.

37dr / OR
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SYATTaT-SEen faversor = € 2 3a% fafu=
T &A-®E ¥ §? Tw fmi s %
fTT 39k Hecd 1 duid hifSu |

What is Value Chain Analysis ? What are its

various elements ? Discuss the importance to

manufacturing company.

B8 / Unit-V

5. ‘g ®q FOR’ @ o e wWe@ €2
darereh Aved i R TR #d 999 31
A dl &1 wm § @, IR Hibd
EUERCTIE

What do you understand by the term

‘Reporting to Management’ ? Discuss briefly
the matters that you would deal with while

reporting to Board of Directors.

37gdr / OR

fod figie == §2 I8 Y TR & S
¥ ? gy fHeeeiieo # 39 YR i RO

% Hed H1 IUMH HIfGT|
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What is Special Report ? How is it prepared ?
Discuss the significance of such report in

Management decisions.

DRG 270 (11) 1,300



